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ENGLISH
( For Non-Honours )
WRITING SKILLS—2
Paper : Com Eng-2
{ Communicative English )

Full Marks : 80 -
Pass Marks : 32

Time : 3 hours

- The figures in the margin indicate full marks
Jor the questions
UNIT—I]
1. Answer any one of the following : | 10

fa) What are the points that an interviewee
should keep in mind before appearingin
‘an interview?
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(2)

{p) What do you mean by an interview?
What are the objectives of conducting
an interview?

UnNIT—II

Answer any one of the following :

fa) What is a feature article? What are the
different parts of a feature article?

{b) Discuss the techniques to be followed
while writing a good feature article.

UNIT—II1

Answer any one of the following :

fa} “A questionnaire is a research
instrument that consists of a set of
questions or other types of prompts that
aims to collect information from a
respondent.” Discuss.

{p) What are the different types of
questions that are incorporated in a
questionnaire?

UNIT—IV

4, Answer any one of the following :

(a} What type of skills must one possess to
become an effective public speaker?

10

10

10

{ Continued )

(b}

(3)

Write a speech on any one of the
following : '

(i) Practice makes perfect
(i) Social Media : Bane or Boon?
(it Pros and cons of online learning

UNIT—V

5. Answer any one of the following : 10

(a)

(bj

What do you mean by a report? Discuss
‘the different types of reports.

You are an eye witness te a road
accident in which an old man was killed
and many passengers were injured. As a
reporter of an English daily, write a
report on the accident.

UNIT—VI

6. Answer any one of the following : - 10

(@)

{b}

29P/ 1444

What is a dialogue? How can you
develop your dialogue skills?

Write a dialogue between two friends
planning to go to a movie.

{T'Hmi Over }



(4)

- UNIT—VII
7. Answer any four of the following : 5x4=20
fa} Discuss some of the Dos and Don'’ts of
an interview.
{b) How do you create a survey question?

{c} What are the essentials of a good
report?

(d} What are the different types of public
speech?

fe) ‘How is a feature article different from a
news report?

*
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(3)

(w)wﬁmwﬁﬁwmﬁmﬂﬁ@m

ordt.: _ . XY=y
Radio  station; = Commissioner ;
Independence ; . Vice-Principal ;

Life Insurance; Civil defence;
In-Charge ; Annual Conference ;
;- Advocate ; Receipt; Social Welfare ;
' Translation ; - National - - Highway ;
Human = Resource Development ;
Assam Secretanat '

el () wﬁmmwwwﬁmw_

SeEM A . @
Mulk ‘Raj Anand’s. third novel Two
Leaves and a Bud is the story of a coolie,
named Ganju, and his family who were
forced to leave their house and premises
in Hoshiarpur district of Amritsar. Buta,
an agent of tea planters, appeared in
front of thém as a savior and promised
- them money, larid and security in the
distant Macpherson tea estate in
Assam. Ganju, with his  wounded
honour, believed everything Buta said
and left for ‘Macpherson tea.plantation
" in Assam with his wife Sajam and
_children Leila and Buddhu. Anand
" porirays the miserable condition of
coolies in the tea plantation and how
are they trapped by the planters. Before
long, Ganju realises that the greedy

22P/1448 = | ( Turn.Over ) -
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morieylenders of his village (who took I (F) SR e w@mT | 1S m =]
his house and premises because his . ik SrerE vLs B v
- younger brother had mortgaged them) N—
and the planters and agents are all the
same. Here Anand points at the double () =N SIS T SOt e 9 CERER
- suppression coolies experienced in the ' R v o
- hands of Indians as well ag Europeans. . :
- Though' all the three of them worked V1 TR AR S AR T <o w4t (7 e wRo) ;v
hard, they were paid barely eight annas 67 oo ; Rl cvew Tt ; I TRy ; werm
- a day. Once in a week, 'fhey visited the | 3 ; (B 41 4y ;o el e )
market to buy essentials, whefe the _
merchants sold things at an exorbitant b o s Roaren et wwes Bl . sxe=c
rate that made things worse. Ganju who ' RN ;A Srerod ;e s A
dreamt of a house and land, was living w3y |
- in a tin-roofed shed and little he got as |
. ) possessions. Bemdes, the coohes were } I () =P oy AT (R TR A T 5
~_.not provided with adequate water o _ & oats ]%MTI o

- supply and sanitation facilities which

~made them .vulherable to dreadful A
diseas‘es S - | o w0 };‘jn% 9 ere W e et W
) . .
(f;) ﬁmmzmﬁw*s{hﬁm o so n
(5) WW
-  (=<) me‘é
(Q)Wﬂi
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Jor the questions

1. Answer any eight of the following : 1x8=8

{a) What is the original name of Swami
Vivekananda?

(b} Who is known as the sage. of
~ Pondicherry?

{c/ Which is the ﬁrs_t film of Satyajit Ray?

{d) When did Satyajit Ray receive the Oscar
for his lifetime achievement in films?

fe} What kind of a bowler was Coetzee’s
father? '

22P/ 1450 _ ~ { Turn Over)
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(9)
(h)
(i)
()

2. Answer any two of the following :

fa)

(b)

()

{d)

3. Answer any four of the following :

(2)

What is a coup?

Who was Mya Than Tint?

Where was Amitav Ghosh born?
Who is the auth;)r of Vedartha Prakash?

When was V. 5. Naipaul awarded the
Nobel Prize for literature?

5x2=10

What is Samskara? How do good and
bad actions influence one’s Samskara?

Why was it unusual for Naipaul’s father
to be a journalist? Which newspaper
did he work for?

What does Coetzee mean when he says,
“Cricket is. not a game, It is the truth
of life”?

Why was Amitav Ghosh discouraged
from handling the bookcases in his
grandfather’s home? '

12x4=48

fa) What is the central idea in the
Bhagavad-Gita and how does Swami
Vivekananda explain the idea of
‘unattachment’?
22P7/1450 { Continued )
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(3)

{p)} How does Ray narrate his experiences
as a filmmaker?

fc} Summarize Sri Aurobindo’s views on
intellectual freedom and the need for
a successful assimilation of Indian
thought and Western knowledge.

{d} Give your impression about V. S.
Naipaul’s understanding of his father.
Does this understanding remain static
or does it change?

fe}] What roles did hookcases play in
Calcutta’s ‘middle-class homes?

{1 “At the wicket the secret that he
manages to cover up elsewhere is
relentlessly probed and exposed.”
Explain. :

Write a critical appreciation of either (a)
or {b} : '

{a) 1t is a beauteous evening, calm and free;
The holy time is quiet as a Nun

14

Breathless with adcration; the broad sun

Is sinking down in its tranquillity;

The gentleness of heaven is on the Sea:

Listen! the mighty Being is awake,
And doth with his eternal motion make
A sound like thunder—everlastingly.

{ Turri Over )
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Dear child! dear girl! that walked with

me here,
If thou appear untouch’d by solemn thought
Thy nature is not therefore less divine :

Thou liest in Abraham’s bosom all the year,
And worshipp’st at the Temple’s

inner shrine,
‘God being with thee when we know it not.

() Man, of all creatures, is physically the
most ill-equipped in this world. He
cannot fly like a bird, can be killed by
a tiny insect, cannot outrun a leopard,
cannot swim like an alligator, cannot
climb the tree like a monkey, does not
have the eye of an eagle, nor does

“he have the claws and teeth of a wild
cat. Physmally, man is helpless and
defenceless.

But nature is reasonable and kind.

- Nature’s greatest gift to man is the
ability to think. He can create his own
environment, whereas animals adapt
to their environment.

Sadly, very few people use the greatest
gift—the ability to think—to its full
potentlal '

L
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Paper : DSC-2
( History of Medieval India )

Full Marks : 80
Pass Marks : 32
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The figures in the margin indicate full marks
- for the questions

1. GBI A 5 ARTS 6o PITAIRT AR Taw fi
_ o 1x8=8
Answer the following questions in one word
or in one senterice each :

'(a) ﬁ%ﬁﬁﬁwwﬁwzﬁww
pEEFRIE 5 forer 1

Name the first woman to occupy the
throne of the Delhi Sultanate.

(b) Rt Temem afodrer W 2
Who . was the founder of the Khﬂ_u
Dynasty?
20P/1428 , . | '(_Tum Over }



(2)
{c) - W SEE @I SR ?
'_Who was Mahmud Gawan? _
{d) IR 22 5 T IR TS TRAGS L2l 7
Between whom was the first Battle of

_Panipat fought?

(e) ‘TEF-2-IAR’ AR T FHT?
Who was  the author of the book,
'I‘u.zuk— -Babun'F’

1] ﬂwm@maaﬁwwaaﬂmﬁ$wm%ﬂ?
What was the name of Nurjahan in her
childhood?

(@) a2 -
What was Chauth?

(h) PR Rrre R e @ wfEE 7

Who was the famous Sufi Saint of

Assam?
2. —a—ﬁaﬁ$m¢¥ﬁiGWMTFF%W1%R§F{&WNEW«
4x3=12
Write short notes on any three of the
following : :
(o) T -G qERS
Coin Policy of Muhammad bin-Tughlag
(b) TR TN
Krishnadeva Raya
20P/1428 { Continued )

(3)

) TR ReeTeR FRPTR
Causes of failure of Humayun
{d} (¥9%Z / Sher Shah

{e) Eﬁﬁﬁ / Sufism

3. gl IEEE @F TR 390
Form an estimate of the reign of Iltutmish.
Y S/ Or
ﬁmmﬁ ey fAva ﬁtﬁwsm§ AT TR
uﬁﬁﬁ%aﬁﬁ@#wwmﬁﬁaamfﬁrpm¢¢¢m|

Estimate the administrative system of
Alauddin Khilji with special reference to his
policy of price control.

4. ﬁﬁﬁMﬁaamwa%wFpﬂaqanﬁﬁsgﬂﬁmﬁiﬁmr
Give a brief account of the rise and fall of the
Vijayanagara Kingdom.

W. 93t/ Or

il pereIR) ST 2P AR B T

Briefly describe the administrative system of
the Delhi Sultanate.”

5. cmwavmwmweﬁ%éwmiﬁ$mﬁamﬁaammﬁﬁvﬂ@mmﬂ
BT .
Discuss the activities of Babur'as a founder
of the Mughal Empire. '

00P/1428

12

12
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(4)

47T/ Or
wi$4gq 4N ANfex 9 FNFRS I T |

Write a critical note on Akbar’s religious
policy.

6. RS (Toge AP SRR e g w1 12
Describe the rise of the Marathas under
Shivaji. ' ' '

B H¥q/ Or
AT J5E TS A -ANNGF Sag! 2o6a T

Describe the socio-economic condition of
India during the Mughal period.

7. WHR O ©fe WCTeR IR [ wifke 2
TG <2 4T WA ASE (G IR, T
Ty 17 | : _ 8+4=12
What were the causes of the Bhakti
Movement in medieval India? What was the .

~ impact of this Mevement in Assam? Explain

briefly.

| | &9t/ Or

TRy prorPRer e TR RIm rond 9
et Tz o : 12

Give an account of the development' of
architecture during the Sultans of Delhi.

koK ok
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" HISTORY
( Generic Elective )
Paper : GE;2

N History of India from the Ear_liest
Times to 1526 )

_ FuII Marks 80
Pass Marks : 32

Time: 3 hours

The ﬁgures in the margin indicate full marks
Jor the questions -

L SRap@Cea s ixgeg
(a) By Moo s Graow W frt 1

Name the" pnnc1pal delty of the Indus
Valley Civilization, T

(b} whﬁﬁw@wmwaw@w@mw
B

Name a woman who oomposed verses in
the Rig-Vedic period.

22P/1399 - { Turn Over )



‘2. v G R (R o RRE) ¢

- 22Pf1399

(2)

fc) TG SEACS —Fmﬁnh‘aﬁﬁﬁszﬁundﬁﬁﬁ#’ﬁﬂ#
FAfEE ¢ 3

Asoka spread . Buddhism to which
country outside India?

(d) wem Al e
What is Sangam: literature?

(e) amn YRGS @ﬂﬁﬁ%ﬁ @ Feeie 12

- Which inscription is the main source to
know about ng Kharavela?

() oo AT P A R
Who founded the Chola kingdom?

@) FER Prepme SR TN @A AR
T o o

- Name thé only woman tc ascend the
“throne in Delhi." -

() SF AIET W e LR
In which year was Guru: Nanak ‘born?

' Wnte short notes on (any three) :.
(o) =R PR TR
.- = Polity in- the Vedic period- i =

Maha_]anapadas

4x3=12

(3)

(© mefEEmC
Gandhara School of Art -
(d) T
Kabir |
(e) @ T,
King Balban

3. THH MO G TP SICAGA F - -

Discuss. the. .causes for .the: dec].me of the
Harappan Civilization. i :

w1/ or
@@ 3 Yo e W il e 5 Raer frar o

Give a brief account of the: soc1ety and
religion in the later Vedic period. . =

4. wmﬁﬁwﬁmmaa‘1@@=wmﬁmw aﬁ‘ﬁﬁvrﬁ%nl f*¢ 

Give an account of Alexanders mvasmn
of India.

=1/ Or

d@#ﬂﬁmma°Nﬂ<ﬁ$¥ﬁﬂgvmﬁwsnawr

Discuss the causes for the decline of the
Mauryan empire.

5. g3 IEREE oY RO SIeggeE |

Analyse, in brief, the reign of Kanishka.
. "]/ Or _ _
B APles T Racy «fo Grm o)
Write a note on the advancement of culture
in the Gupta period.

12

12

12

o {mmOver)



(4)

6. 29 TR IR R SR S 71 | 12
Briefly describe the reign of Pulakesin I. ’

e/ Or
SR PRI ST ST e 9 |
Describe the Arab invasion of Sind.
7. S Refe emvege fwg <o G 12
‘Write a brief note’ on Alauddm Khilji’s
administration,

e
A A oA (FES Sl PRl
FRPIR RICT cewan 3 1+ '

Discuss the causes leading to the downfall of
the Bahmani kingdom.

ko ke
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POLITICAL SCIENCE
( Generic Elective )
Paper : GE-2

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Paper : GE-2 (A)
{ Feminism : Theory and Practice )

1. RotrpR Tore fmERe be o 1x8=8

Answer the following as directed :

(a} e BEY I A R @ oF-
UL IR IRY Ffee 2

Who among the following first used the
- word feminism’?

(i) Betty Friedan
{if} Hubertine Auclert

22P/1400 " {Turn Over)



(b)

c)

(dj

(e)

22P/1400

(2)

{ifi) Peter L. Berger

fiv) Thomas .
(o T=Ch A Slerean)

(Choose the correct answer)

aﬁhﬁ SRS RN RSN A SR
e I W ?

Which approach is known as main
stream of feminism?

{i) Liberal approach
(i} Marxian approach
(i) Radical approach

fiv) Third World approach
(R Teachi A Tfere)

{Choose the correct answer}

ArereR AR e @R fire Rew
IR 1R 2

Into how many waves can the Feminist
Movement in the West be divided?

Alexandra Kollontai (¥ wifed ?
Who was Alexandra Koliontai?

‘ACWF’ it & 38 2
What is the full form of ‘ACWF™?

{ Continued }

() Aruna Asaf Ali- SRS S SHEGPIR
AR e |
( 3761 G oy ot )
Aruna Asaf Ali was one of the leading
feminists of Quit India Movement.
( Write True or False )
(g ‘B STwE ilf?@lﬁ ARe W 79N
*ﬁf@@w&m |
(st o R forar )
Chlpko Movement was a feminist
movement relating to environment
protection.
{ Write True or False )
(h) &R Sexual Harassment of Women
at Workplace W34 2% 941 (=f2H 7 -
In Wthh year was the Sexual
_Harassment of Women at Workplace Act
enacted?
Z.WﬁWGWﬁW(m 150 **J
foev9) -
Write - on the folIQng (within 150 words
each) :
fa) <«NI™
Feminism
22P/1400

(3)
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(4)

(b) AW P PO e e
Third World approach to Feminism

() T aREm e

Feminist Movement in China

.{d) LaIRE)

Domestic violence

oo Wl LRT eT o (4fecht 500 === foeTo) :
Answer the following questions (within 500 words
each) :

3. ERe frd W TS frd T R OT@? WK
e o7 PR & & 4+8=12

What do you mean by sex and gender? What
are the differences between them?

N33/ Or
Bieal SIS RO R RO S w4 12

Discuss, in detail, about the issue of gender
socialization. : :

22P/1400 R { Continued }

4..

5.

22P/1400

(5)

T AR B RSN @ INCAATE
AT SR ¢ o

Critically discuss the Marxian approach to.'

feminism,

w3/ Or

TR R Ao R 3w 7 R REPTRR ScEn
e :

What do you mean by radical approach?

Discuss its features.
IR PR AW ACEeE Fof6! e Ra
Rl T HICT | E ' '

Discuss the three waves of Black Feminist
Movement in America.

| R/ Or |
RS AF FETS TRAR (SRR SR [
TNE G SACAAIT SO ST |

Critically discuss about the suffragist
movements in the USA and France.

6. TR AUNTE TOFE M T SRS

Alexandra Kollontaid 9T Sicans 941 |

Discuss the role of Alexandra Kollontai for
the movement of women’s emancipation.

11

11

11

11

11

(TumOver)
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%W/ Or . ' Paper : GE-2 (B)
THeTT  FANE  SICAES  FCIRA RSP ( Gandhi and the .Céntempofary World )
- e SfAfRE, M EN 11
1. oo fgpRa FMorepme Tes f 1x8=8

Describe how Indian women took part in

Freedom Movement. Answer the following as directed :

7. WEm Ffefe A ﬁﬂ‘m 'ﬂ“ﬂﬁ TGS fa) ST TR A FIF ST 2

WA T | _ _ 11 . Who is known as Frontier Gandhi’ ?
Critically d.lSC'LlS_S abo_ut sexual harassmenfc '
of women at workplace. b =N sn@zq cfr W{ﬂ A Ee
w12q / Or _ | et 2

q e TR PR T o SO '~ When did Mahatma Gandhi suspend
COPEIo(5S WA Q11 - 1 ' the Non-Cooperation Movement?
' Discuss the role of women in environmental '
movement in the context of India. . {c} TENN 4T Shov J Sd0d / dd3d0 J 5%

- L ‘ﬁ"? e 36 el |-
' (o T30 A1 Tfevea )

Hind Swaraj was written by M. K.
Gandhi in the year 1903/ 1909 /
1910 / 1911.

- ( Choose the correct answer |

() oR-e=TL e cofom TrEle ey

When was the Gandhi-Irwin Pact
signed? ' '

22P/1400 ' { Continued } 22P/1400 { Turn Over }
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e} Unto This Last 593 f519% @52 (c). T Wmm

Who is the author of the book, Bhoodan Movement
Unto This Last? ' '

(s v few ot _ {d) TENF TS oI WiewremR PR

When did Dandi March take place? '. Relevance of Chipko Movement in the
' contemporary time

(g) - ST ST Pre T e 2
Who was the father of Bhoodan : :
Movement'? . WS Fral 2aRE Tew fare (2T 500 e Rt

) cves Te @fea o5 oafier | :z:;;re:r the following questions (within 500 words
When was Home Rule League formed? C .
: 3. MRR (Tl WO YRR HANCACAF AT
- : 1 12
. 2. Y G e (erfect 150 *rm foo ) : 4x4=16  Critically discuss the concepf of alternative
Write short notes on (within 150 words modernity of Gandhi.
each). e : ' &/ Or
(o) TRER ST ToroR W T F01S WA Soeic ST 3R | 12
Gandhiji's = concept of = modern _ Discuss about the ‘Narmada Bachao
civilization ; Movement’, '
(b) TS WF G AW T R RET 4. von e fa | v R W @ e
413N | | FPEPTRR ST 39 | | 4+7=11

Define Satyagraha. Discuss the techniques of

Gandhiji’s views on the relation between
- Satyagraha as given by Mahatma Gandhi.

politics and religion

22P/1400 o ' (Continued)  22P/1400 - { Turn Over )



{ 10) | { 11 )

W1/ Or ' : %/ Or S
B i ARG AR A | 11 R ke aR-yAToN wEe SReRds FoE
I 98 (2fRe 2 STEAD 40 ) 11

Discuss the views of Gandhiji on State.
On what grounds, Swadeshi Movement got

5. @ e e R o G o 11 started in pre-Independence period in India?

i Di .
Write a note on temple entry Satyagraha. Scuss

77331 / Or | o * & K
7% TR A8 AAICEABATR S 47 | 11 |
Critically discuss Dandi March.

6. S RIS NI M LW FRE ScAA
| 11

Discuss Mahatma Gandhi’s influence in
Bodh Gaya struggle. '

Wﬁ'ﬂ/br
‘oiTm iR e R s i _ 11

Explain ‘Greenpeace Movement’,

7. TMRMELT SINCERT TRE AR T Sl
0 _ 11
Discuss the concept of ‘Swaraj’ as

propounded by Gandhi. 2 SEM TDC GEPS (CBCS)
22P/1400 {Continued)  22P—10*/1400 2 (A/B)
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POLITICAL SCIENCE
( Discipline Specific Course )
Paper : DSC-2
( Indian Govefnment and Politics )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate Jull marks
for the questions

1. Tﬁm@m@a%@zﬁﬁﬁ%ﬁf@m/ww

1x8=8.
Choose the correct answer/Answer the
following :

(a) SN wﬁ’rﬁ tﬂw T if‘é‘e"%ﬂa &
TN S o |

Write the name of one supporter of the

Marxist approach to the study of Indian
'polltlcs

22P/1429 { Turn Quer )



{2)

(b) ORE G FENTHIN G WA T [ 7
Is India a welfare State? Yes / No.

(c) MRET WS ‘AT T RS, mmﬂmz”
T/
According to Gandhiji, “State is a
means, not an end itself.” Yes / No.

(dj PPP3 55 Fo1ehl & 2
Write the full form of PPP.

fe) —m—qwﬁwmﬁmwm?ﬂ/
= o _
Is the Prea.mble of the Indian
. Constitution justiciable? Yes / No.

(TR sxeq TWONGAT 9@ (2fRH s5a8 /
359 / $59% / 5594 5@ | _ .
The 42nd  Amendment of the

Constitution of India was passed in the

year 1972 / 1975 / 1976 / 1977. ...
(g) OFA CFCH! ¥o Bl SNERs qeiafed 7 2

Which one of the following is a regional
‘political party?

) [Py BJP
fii) sWAr / Congress
(iii) f&. @3. c=. !/ DMK

{h) ST TS WWW

Who founded the ‘Satyashodhak
Samaj’? o

22P/1429 { Continued }

(3)

2. Wm@memwmﬁm(m 150 *=4

o) - Ce . 4x4=16

Write short notes on the followmg (withm

150 words each) : :

(@ s SR e )
L1m1tat10n of Fundarnental nghts

(b) ©TSF ﬁrﬂ?%ww _ 5
Gender- based Inequa]lty in Indla o

i..(.c). WWWW‘T

Necessity of Regional Pohtlcal Party

(d) oS R Rea® e

"Anti-Dam Movement in India

e '(zrf@z'ﬁ 500 Wﬁ—) ;

Answer the following questlons (within 500 words

W@WWWWW@E
Rew weeen =11 12

'Discuss the liberal approach to the study of

Indian State and Pohucs
w5/ Or

-w@aﬁi@wﬁm@ﬁﬁww&ﬁ@&mﬁﬁw

i 7 WZ?IIWI T4

 How does the Gandh_iah approach de_scﬁbe'
- the State as a non-violent State? Discuss.

22P/1429 . o { Turn Over )



4.

14)

omReT @ TSN, Wﬁ e, w9
mz”ﬁﬁWWWWW| 11

. “India 1s a Sovere1gn, Socialist, Secular,

_ Republic.” . Disecuss with
Preamble of the

Democrat1c
reference to the
Constitution. '

%/ Or
w@awm WWWWW!

Discuss the composition, powers and
functions of the Indian’ Parliament.

ﬂT@IﬂﬁW@ﬁT”! 59 ooe SeEviiToRME [AFrE -
PR, WA F40 | 3+8=11

* What is communalism? Discuss the causes
. responsible for the growth of communahsm "

- in:India. .

22P{1429

4t/ Or

ROy qEAee AREE ﬁﬂv:rr W‘W famcsr
HZAS F4 | ' 11
Discuss the issue of low-level of women’s
participation in Indian pohtlcs

| SRS W%W’ ‘mﬁﬂfw W ﬁaﬂ*ﬁ TRPAR
SIS T - 11

Dlst:uss the-causes for the growth of regonal

' pohtlcal parties. in Indla :

( Continued )

22P—2500/1429

(5)

- H/q/ Or

SB5Y TR T SIS LT TR
1 SR Tk S 4 ) ik

Discuss the nature and development of

€conomic liberalization in India f
Tom
year 1991, e

=
11

Discuss the vanous types of social movement
in India. g

W%‘T/ Or

WCW”WTWW| @i

How globalization has affected the workmg of
new social movement? Discuss. '

W A e
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( June/July )
EDUCATION
( Discipline Specific Course )

Paper : DSC-2
( Psychological Foundation of Education )

Full Marks : 80
Pass Marks: 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. o Ry Teg fan e 1x8=8
Answer the following questions :

fa) ‘sefEc A9 OIS ST (IR, O AIRS
RFE B W, SN re O (5
(A, TEA W WS MR 4T Al
OISR 1 R I T 2 -
“First psychology lost its soul, then it
lost its mind, then it lost its

consciousness, it still has behaviour of a
kind.” Who said this?

b)) frm aREas Pre @m sife 2
Who was the father of educational
psychology?

20P/1427 { Turn Qver )



22Pf1427

(2)

(c) <RI SRFRTE g @ 2
Who is the father of operant
conditioning?

(d)  TCNCEINR G5! eI 1R Seamd T |
Mention one internal cause of attention.

() ‘e Ry foww sfg s b 17 FAR
“Intelligence is the ability to carry on
abstract thinking.” Who said this?

¢ sfoTem Frede gme fenm 29 o
What is the IQ of a slow learner?

(g) CRFYeERFR WS BFIRG 7o ogfe =iwe ?
How many instincts are there according
to McDougall? :

(R “Tfee tag e R PTe @R 6T
Re 4 Fefoeel SIS 77 PARE I
Coplee 2 . '
“Personality is an individual’s typical
or consistent adjustment to his
environment.” Who said this?

2. wore fapmEs o e e . 4x4=16

Write short notes on the following :

(@) SHIRT W TR TES TS
- T

Comparative  analysis between
Behaviourism and Gestaltism -

{ Confinued )

(3)

(b} TR BIAIET
Transfer of learning

{c) wEiE I

Emotional intelligénce

(d) @ O AR T i
Difference  between extrovert and
introvert personality

frel IRERR ke fa | cflews TR
I TG AR B P e weaiReee e
oS Y I 2 . 3+11=14
Define educational psychology. How can a
teacher apply the knowledge of educational
psychology to solve classroom problems?

frr o AP R B2 fies defie
TAWREPIR, ST T4 6+8=14
What _are the main characteristics of
learning? Discuss the factors affecting
learning, - :

HYF/ Or

SRR e | P cvae R
e g sfcehe R s 331 3+11=14

Define motivation. -How can the teacher
motivate students to learn? Describe it.

22P/1427 "~ { Turn Quer)



(4)

5. g e Fia S B CAARER TE w R
LIS TG4 ifSFE @Fe I 39| (3+5)+6=14

Define intelligence and describe  its
characteristics. Describe the educational
importance of multifactor theory of
intelligence, -

591/ Or

g o fedly owy & 0 Rarme 9]
Afeom iy I B Rew w73 {0
(oY Teag Tl SN 4 | ' 6+8=14

What are the characteristics of slow learner?
What steps can be taken by the schools for
slow learners? Justify your answer.

6. Ty W B2 ofey W@ SAmTEm R
I 4 5+9=14

What is personality? Discuss about the
factors of personality formation,

- ER{/Or
wean e & e ofiewe o o
43R I 0 | - 5+9=14
What do you mean by emotion? Describe the

importance of emotional training in the
classroom. :

* Ak

2 SEM TDC EDCN {CBCS)
22P-—3000/1427 DSC 2



" Total No. of Printed Pages—8
2 SEM TDC GEED (CBCS) 2 {A/B}

2022
( June/July )

EDUCATION
{ Generic Elective )
Course : GE-2

Full Marks : 80
Pass Marks : 32

Time : 3 hours
The figures in the margin indicate full marks
Jfor the questions
Course : GE-2 (A)
.'( Human Rights Education )

1. o e el fm ' 1x8=8
Answer the following questions : _
(@) TR SRR STHERA CETPR e bre =
RalS R o

In which year was the Universal
Declaration of Human Rights accepted?

(b) e Tfre TTWE (P NG PR 2

Who started the Dalit Movement in .
India? : :

22P/1398 _ { Turn Over )
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(2)

() TA® ‘terrorism’ NWH PN TER oM
wii%=?

From which language is the word
‘terrorism’ derived?

(d) SEPRMA <51 4R o7 |
Write one type of terrorism.

fe) ~RfaeE 47w STEY F)

Mention one aim of counselling.

(H i e orfire e SiteET e wite 9l
Ry T
Mention one subject area relevant to

human rights in primary stage.

(g B SITHERR oot (e ifee 2

Who was the leader of the Chipko
Movement?

-G R AR R G
What is meant by printed material?

2. woTe FAIARY €S B G Bl ;o

Write short notes on the folldwing-:

(@) S TS S

National Freedom Movement

5x5=25

{ Continued ).

22P/1398

(31

() fre ufiee FRPEE

Causes of child labour

{c) OREHT TR S T
Causes of population growth in India

(d) N SRR frer Frem srfenR
Methods of teaching for human rights
gducation '

(e} WWWW?@?WW

Role of national efforts for human rights
education :

TR e e B qE 7 TAE SReRd SRR
If T : . 2+6=8
What do you mean by human rights?
Describe the scopes of human rights.

w9/ Or

&b ofter & (it SRR TEPRE o
R SRR A | , 8

What is fundamental rights? Discuss the
duties of fundamental rights and their
correlation.

{ Turn Over )



(4) (5)

4. ST VTR KEea @Rl BT SIRmR W 39 | | . Course : GE-2 (B)

HfEe 22T 2(J1 ]! 2R A GO A e |
6+7=13 ( Gender and Education )

Explain the causes of violence against
women in India. Give your suggestions for 1. SR PPz Tes fr 1x8=8

protection of women from violence, Answer the following questions -

5. T WEFK e E@Wq@ I G [ B | (a) TIE ‘gender’ T F'F M1 Rem?
%W Ry szamsan w1 1 e sl P From which word is the term ‘gender’

TREePRR ford | 7+6=13 | derived?
Discuss the factors for promoting human
rights education. Write the limitations of (b) gefFTeR & ¢ b1 CaRE Temy

human rights education. - Mention any one characteristic of

w7/ Or o matriarchy.
- TR SR PR Seiam 0 aefie o1me e :
eI R AT Stce o | 6+7-13 (c) 13 TSl (T 2

- What are the objectives of human rights Who is the father of textbook?

. education? Write about the curriculum of

human rights education at primary level. () ‘Teemm Rar-REsa W @’Fi’ W AT
_ | | | 7 Cafee 2
6. W@WWW@WW@E@T W\Ej‘f (ABIFR . In which year was the Dissolution of
Aeooee RaT e | 3+3=6 Muslim Marriages Act’ passed?

Write about two important NGQOs associated
with human rights in India.

fe} OBBR = ot ¥ 2
: What is the full form of OBB?
7. WA SEER e o fSemr e R

- - - . (ot 0

: ) . - - . - 3
Explain the role of cinema for human nghts What is gender discrimination:
education.

20P/1398 { Continued ) . 22P/1398 { Turn Over )



(6)

{g) oA °niﬂ:rrﬂ &2

What is hidden curriculum?

() ‘@M e @ ome SR (T N WG T
Cafew 7
When was the Beti Bachao Beti Padhao
Abhiyan started? -

2. wore AT @RS 59 GRT o 4%4=16
Write short notes on the following :
(q) oo wEe e ol
Gender role in matriarchal society
(b) " OGS 2
Dowry system
{c) “erfRe fora (W0
Gender discrimination in the textbook
(@) e s B
Women Reservation Bills
3. s qeSRER wmemEl R B R
Sifiewre Rrem gRT SC=m <9 | 2+12=14
Write the concept of gender segregation.
Discuss the role of education in minimizing
gender segregation.
22Pf1398 - { Continued )

22P/1398

(7)

4/ Or
frpey & 7 Prgsar ol s ST 41 | 14

What is patriarchy? Discuss the nature of
patriarchy.

st AR A 3 2 Bt SRS Raew
e “RAEE g e e 4+(5+5)=14

What is meant by gender socialization?
Discuss about the role of family and school
in gender socialization.

g/ Or

Frot peerre <R o e R Aficwre R
TEAS T ST 4T | 2+12=14

What do you mean by gender bias? Discuss
about gender bias in school environment.

THES el el B RCereS a2 T B |
wisteTes Recy Scema 4 ¢ 14 -

Discuss about the educational programmes
from gender equality perspective in India.

wJ/ Or -
fFar= R w15 wibe Wiz Reen @ ) 14

Write about the laws related to divorce.

{ Tum Over }



{ 8)

6. Prsrs SopT e & 9o 7 Frers Sem (Y S99
T 22 G o1 TOARPTR IR 4 2+12=14

What do you mean by stagnation in
education? Explain the measures that can be

taken for removing stagnation from
education. :

W=t/ Or

Rerere i@ wie s SRR v
TS ARATS R forsl AFAS FACE A
gall 7+7=14

Discuss about gender inequality seen in
organizing curricular and co-curricular
activities in the school.

i & ok
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'ECONOMICS

( D'is.Cipl.ine Specific Course )
Paper : DSC-2

( Principles of Microeconomics—II )

 Full Marks : 80
- Pass Marks: 32

Time : 3 hours

The figures in the margin indicate full marks
for the questtons

1. wﬁﬁwmww | 1x8=8

Answer the followmg as directed :

(@) Trzf%mﬁmwmﬁrﬁﬁiﬁﬁm
R FifRee -

If an individual seller in a perfectly
competitive market wishes to double his
sales, he would

) ﬁﬁtwwmﬁ@mﬁﬁﬁa
. improve the quality of his product
(i) ITI v ZPT 3T
lower his price

22Pf1426 ! ' { Turn Over )



{b)

(c}

22P/ 1426

(2)

(i) Tz cfma 75 RP7 a7 Tz fx
offer douhle the quantity for sale
(iv) fReerig I i +f
increase the advertisement cost
( Afd fRemcot qife Sferear )
( Choose the correct option )
T Reehiesd seee ¥ afen wam wiEm
fefommrrel FraRm asiee . 27|
( A I A1)

Price discrimination will be profitable
when elasticity of demand is in
both the markets. -

{ Fill in the blank )

14%@@1@%&%31%@1«%@%

At the point of equilibrium of a perfectly
competitive market

i} AR > MC
(i} AR =MC
(iii) AR < MC
fiv) 8*R] dble T
None of the above

(ﬂﬁﬁﬁﬁﬁtﬁﬂﬁﬁe@ )

( Choose the correct option }

{ Continued }

{d)

fe}

22P/ 1426

(3)

o aferafer TwR Wie GFRTE W RIE)
Bt <1< TrE 411
Mention  one
perfectly  competitive
monopoly market.

difference ' between
market and

AN Ao TGT TBRA @I TR ?

Who introduced social choice theory?

G2 ARSI M IS 9 B
' o ol T =Y

In a competitive labour market, -the
demand curve for labour is derived from

(i) enfe e e

marginal revenue product.

(i) 5 ST TeATH
total physical product -
fiii) A CONET e
_ marginal physical product
(iv) =ife 3T
marginal cost

(ﬂﬁﬁﬁ@tﬁwﬁ%ﬁm)

( Choose the cotrect option }

A Turn Over )



(4)

(g) =9 vifzas fou T vifdn e o =
Why is demand for labour called derived
demdhd?

() ﬂ%ﬁ%@rﬁ trﬁm ¥

What is contestable market?

2. o4 R 0N wRERE ecme 5 G BT ¢ 5x4=20
Write short notes on any four of the
following : -

(a) < ARSI THRT ARG el

Allocative efficiency under perfect
competitive market '

(b) & 7

Selling cost

(c) 5 Roeor 3u@
Oligopoly

(d) AeE_ TH
Public goods

fe) §Er T

land market

22P/1426 : : ( Continued )

4.

. (o)

(b)

{a)

(5)

o eferfienee wm e SRaRemire

& Ry edm Awe of  afwahenee
TGS G4 TAWH AR (FENT SR
o FCE, ITHBA 91 | - 5+8=13
What are the basic assumptions of
perfect competition? Discuss how a firm
under  perfect competition achieves
equ'ilibrium under long run.

‘WW/ Or

ﬁﬂf@mﬁ‘mﬁzﬁwmﬁﬂwﬁwﬁq
QAT A4IF e Nl 5 7 o) eifScarfarenyers

- IEES YN W Sogeig TEEW e @l

AT W T 2, T%?Eﬁ RS ST |

- 5+8=13
What is the difference between
short-run and long-run supply curve
under perfect competition? Explain with

. the help of diagram how a long-run

supply curve is derived from a

: decreasmg cost mdustry under perfect

competition,

GITHIR oS AR o NP 71
Teomwet TS Fefa 3 2w, e < | 13
Explain price and output determination '

- under monopoly firm in the short run

and long run.

22P/ 1426 ' { Turn Over )



(6) (7))

3

ww/or | () ¥ T ST T T oy |
o T : . State the conditions f i
or achievi
b Tige fBaw smEe o dfewlerEe @ - equilibrium in a labour mar;::mg
o «shaed afecn® TRy TEe AL : '
e 4 | | - /or
Mention the differences between _ (b) TxeAmE it @ &0 By wmpe Tedms
perfect competitive market and 11 o 51 3y 13
monopolistic competitive market with What. is  input demand curve?
the help of suitable diagram. Explain input demand curve with th;:
' _ : help of diagram.
5. (o) P o IR R o 7 afege o o ekl
e Reifeq uRen w51 Sregesia i +9 |
3+10=13
What do you mean by asymmetric
information? Discuss with examples the
 two concepts adverse selection and
maral hazard .
w331/ Or
(b} TR AR Rewer for TR el e
(R PRPIR . 4+9=13
What is market failure? Explain the
“causes of market failure.
6. (@) (i TeTRR ITES S KRR FEWR
oA 991 1 - 10
Derive the profit-maximizing
conditions in input markets.
. . 2
: | _ S 22P—800/1426 . SEM TDC ECON (CBCS)
20Pf 1426 { Continued } _ _ DSC 2
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- ECONOMICS
( Generic Elective )
Paper : GE-2
( Introductory Macroeconomics }

Full Marks : 80
Pass Marks: 32

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
1. oS TR ok srprR Ses i 1x8=8

ArisWer the followi'ng as directed :

fa) @=E= ‘ﬂ@ﬁﬁﬁ'ﬁ AYWET A “‘macro”
ST IR P 2

Name the ‘economist who propounded
- the word ‘macro’ for the first time.

22P/1397 - o { Turn Over )



{b)

(c}

(d)

22P/1397

(2)

“eBy wE (' MR WS WE e
WWWWW@%‘IW%
e WA gRa o o7 Bl @
oAU 7

«National income is the part of the
objective income of the community,
including, of course, income derived
from abroad which can be measured
in money.” Who made this statement?

The Purchasing Power of Money ¥4
G4 (7 '

Who is the author of the book,
The Purchasing Power of Money?

TurRifes TS TR W B9

During inflation, the general price level
(i) & o/increases

(i) QITT A1l /decreases

(i) TR AT/ remains cbnstant '

fiv) S99 «Bi8 W/Nt_ﬁne of the above
(o Tawh I SFea)

(Choosé the correct answer)

{ Continued )

(3)

(e) TGl WY F1aT 727 2

22P/1397

Which is not a cause of inflation?
) I Iy IR
Increase in personal expenditure
(@) T Im
Black money
(i) sty 9%
' Increase in import
fiv) =9z
Reduction of tax :
(om Teachl 91 SRresr)

{Choose the correct answer)

BT v = I W (E) = comr
RfRcwer @ () wQ

Agglf egate demand =E=C+1

fii e,
Correct

(i) rE
Incorrect -
(o Taaehr A1fs Sferear)

(Choose the correct answer}

{ Turn Over )



(4)

{g) LM (3917 TG FRI T |

The reason for shifting in the LM curve.
is Co

(4 5% [ )
(Fill in the blank)}
(h) ORES TS

 In liquidity trap
U GRCR LA
interest rates are very high
(i) 7 7T ofs Py ww
interest rates are very low

(9% EH1 2 Sftean)

(Choose the correct answer)

2. e AR B @en vftr eome vy Gre g
(=51 150 w3 f5evs) : . 4x4=16

Write short notes on any four of the following

(within 150 words each) :

() Ifesrs W e Fesre TwaEms W\
Personal  income  and ~ Personal
disposable income '

L (b) TESREA S
** Value-added method

22Pf1397 - { Continued )

(S)

() <Rfere @weq 4P AR

Credit creation of commercial bank

{d) YErHfes Frgem Som e TeceRe G -
Monetary policy as anti-inflationary
measures '

e} '3 I REY
Say’s law of market

ToT 2PTRA T T (2ifechT 500 v o) :

Answer the following questions (within 500 words
each) :

3. (q e JF TEse IdEEET oS oo
) NI EX SR R e © B 4 R
SR FAGIFIT A 4 | 8+4=12
Distinguish between micro- and macro-
economics. Explain the transition from
microeconomics to macroeconomics.

G /Or

(b} e wdREEE oo R w1 RS
wfRem Romma Sarmermz & 2 7+5=12
. Explain the scope of macroeconomics.

- What are the limitations of macro-
economic analysis? '

22P/1397 ' { Turn Over )



(6)

4. (o) w0 SR [fEw eRaPTR TRA TP 9=

(b)

(b)

22P/1397

Teoivd (GDP) oWl T SR W€ I/ MRS
A | 5+6=11

‘Explain the various concepts' of
national income. Discuss the income
and expenditure methods of computing
GDP.

w11 /Or

PRG deq W WA TGN 49 T
79 | 11

Explain the circular flow of income in
four-sector economy.

TR ARG e ww ERoE s W
kol | 11

Explain the cash transaction approach
of quantity theory of money.

W/Or

mewww; 11

'Discuss Keynes’ theory of demand for .

money.

{ Continued }

(7)

6. (o) TERR 7 viRTERS e TEEHS TERRT

(b)

(a)

{b}

Y FRPTR TR

3+8=11

What is inflation? Explain the main
causes of demand-pull and cost-push
inflation. a

R /Or

e v a3 A vl Rfed
BFEE TG T4 2+9=11
What is meant by trade cycle? Explain

- the various stages of trade cycle.

s s oo IR T 11
Explain Keynesian
employment.

theory of

W/Or.

IS-LM @49 RS [T SISl A
FI 4+4+3=11

Explain the general equilibrium with
the help of 1S-LM curve.

Ckok ok
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